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GED) HEMBEERUVRTEFEHERSE HER  SH6E09F18H
(bTHkh) \FmE NFHAFARATHT 7 B 4
INFHRRERMEAEH

rEmmRtE FHAE—
# 55 B : £ 6&09818H
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, AEmFER - HF6F09819H
T3 EEHh HA| RH 5t s = =1 g ZE| TR FEHE
(kg) (kg) (kg)
XiE L a5 10]  #@xt 50, 000 1,188 864 432  # 50, 000
AS a5 10, #Ext 5,000 1,620 1,296 432 # 3,000
AS JtiEE 10]  #Ext 5,000 2,160 1,728 1,080 # 5, 000
THZIES M a5 4| FBx% 44, 000 1,080 108 # 40, 000
=E2 JtiEE 10]  #Ext 4,000 1,296 1,080 # 8, 000
IKE R 0.2 #Axt 500 108 A 500
INAEE a5 0.2 #Ext 600 108 86 65/ A 500
INRER R 0.2 #Axt 3,000 86 A 3,000
FrRy a5 10]  #Ext 24,000 756 432  # 20, 000
FS5NAE a5 0.2 #Axt 400 216 162 108 A 400
o a5 5, +Y 13, 430 2,160 1,836 1,080, A 12,000
A a5 5 = 6, 000 1,836 # 6, 000
=5 L WA, Rk 0.1 #Ext 2,000 65 # 2,000
Joyval)y— AL itiEE 8 fBxt 1,600 3,024 A 800
Joyvaly— AL s 8 = 240 3,024 A 240
L& R =2F 10]  #@xt 2,000 1,944 A 2,000
FUF YA R 0.2 #Ext 100 216 # 100
#MI AS b 5| U 800 1,404 1,188 1,080 A# 1,000
#I AS a5 b = 2,000 1,944 # 1,500
¥ R 4 #xt 1,200 1,296 # 1,200
k2 ks 4 +) 1,200 2,160 1,728 324 # 1,600
S kY b % 0.2 #xt 1,500 194 H 1,500
E—<> ks 0.15 #Ext 4,000 108 # 4,000
FE—<> 55 0.15| = 200 108 H 200
HEE R 5 fAxt 3,000 1,620 A 2,000
EHE itiEE 10]  #Ext 3,000 1,944 # 5,000
E¥ A4L, A3L a5 10, +Y 10, 000 3, 888 324 # 10, 000
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GED) HEMBEERUVRTEFEHERSE HER  SH6E09F18H
(hTH) N\FHE NFHAFARATHT 7 B 4
INFHRRERMEAEH
rEmmRtE FHAE—
# 55 B : £ 6&09818H
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, AEmFER - HF6F09819H
T3 EEHh HA| RH 5t s = =1 g ZE| TR FEHE
(kg) (kg) (kg)
EHE dbiEE 20  +Axt 30, 000 3, 024 # 20, 000
[CAI=K b 11 Y 4,000 2,160 540  # 4,000
EHE =2F 0.1 #Ext 3,000 86 # 2, 400
JF4A2 A . =iH 0.1 #Ext 1,200 92 # 1,600
JFHIAL A E¥%. = 0.1 = 50 81 # 40
HEAE 209, 580




